| BEE1E5HK2 |

(2% — 4]

[Z1] FEm7 v 7r— MESR

R TN TRELTWD LKL AEERM) —ERAEE2E 2 TLEEY, KRK525FT)
MRS 1 6 3T

‘ e . IBfi:

4 — & 2B B EEH (ﬁ£?éﬁ)
SRR B 53 1
S B 40 2
BRI A T S 30 3
EENE S 23 4
HETT IR ST 20 5
HE AT SE4E B 12 6
ERNRERETE A 10 7
BiiilfE (EFIE) AT - EhR 7 8
MEBH%ET A H—E R ST 7 g
BHT A TG B 6 10
R SERE A 5 1
BENE A 4 12
B (AT 7 - R 4 12
SRS HIE B B ST 3 14

FHERB I
WE R E
Gl
RENE
R

EERETE

I ERE X &
B A FRER
IR IT R
Hh 15 TE 78 X 1k
REMRFHEXE
FESBERERESE




[% 2] HEHm o5 4 4R AR L FIHE R

R4 FFH RA R4 F] A | FIH RiAE S L FOAF IR T 5
(NH) | (NA) FIHE S D7 FIHES (%)
SN0 @ (NR) - (@)
S OO)
VI 1,310 1, 250 60 95. 4
TN—THR— A 758 862 A 104 113.7
/58 -WNGI 132 124 8 93.9

[7°Z 7 11 AEE - SERATE R - ghorikii s A - AT O — e 250 1 EHER

A v R EBHEY
1 —
,500 Lose 1231 1239 ¥=T74x+1218.5
256 1,228 o7 o «
1,200 , 1,250
y = 58.9x + 539.7
862
900
616 658 691 735
N 4 >
600
y=-18.1x+ 181.7
208
300 124 115 127 105
o 124
0 119 112 94 99 y= -2.5x + 1255
H30 H31 R2 R3 R4
= S AR > AT A
= k7 ke B AR e [A] A v B

(777 2] AiESri# - LREARRED - stk Sz A R - AT OFZEPTEHER

. D

60 y = 2.6x + 37.6
53
50 46
" ks = Y 2 11k + 365
g, W~ 2 VP =( 4]
40 S < o .40
30 I8 38 38
AgeerrerrreeeereeT i — l .................... e e 27
. - 25 23 25 y=0.6x + 23
8 7 7 7
0 y= 6.14396E-17x + 7.4
H30 H31 R2 R3 R4
xRN D= T ) 3l

=0 b ki 1 AT H A Az i 1 B




